2003 Center of the Known Universe Open

Bonuses by Jason Thweatt

1. (Literature – American, pre-20th century) 

2. (Literature – American, 20th century)  Answer these questions about recent winners of the Pulitzer Prize for 15 points each.

a. The 2003 prize for Drama went to Nilo Cruz for his story of Cuban cigar-makers in depression-era Florida.  In the tradition of the factories of the time, a lector, or reader, is hired to read aloud to provide entertainment to the workers.  Much to the consternation of their men, the female workers are charmed by the handsome new lector and the underlying sensuality of the work that he has chosen to read, itself a classic by Leo Tolstoy.

Answer:  Anna in the Tropics
b. The 2003 Prize for Fiction was awarded to Jeffrey Eugenides, for his story about Cal Stephanides, a second-generation American of Greek ancestry.  Cal was born a hermaphrodite and raised in 1960s and 1970s-era Detroit as Calliope, a girl.  The novel tells of four generations of Cal’s family, going back to the flight of his grandparents to America in the wake of the Turkish burning of Smyrna in 1922.

Answer: Middlesex
3. (Literature – World, pre-20th century) Answer these questions about Japanese poetry forms, for 10 points each.

a. The oldest of Japanese poetry forms, it consists of 5 lines of 31 syllables – the most common division of syllables by line is 5,7,5,7,7.  People wrote the poems to commemorate special events, and they were generally written in a way that portrayed the emotions of the writer.

Answer: tanka

b. This poetry form can be thought of as cooperative or competitive, depending on one’s perspective.  One writer took the first three lines of the five-line tanka form, and another provided the last two seven syllable lines as a response.  One could craft an opening that would either serve as a springboard for the second poet, or challenge the second poet’s ability to continue the verse.

Answer: renga
c. A poet like Basho might wonder, “What would happen if I wrote the opening of a renga without the response?”  Once poets started presenting the first three lines of their renga verse as free-standing poems, this poetry form was born.

Answer: haiku
4. (Literature, World, 20th century) Before receiving the Nobel Prize for Literature this year, he twice won the Booker Prize, in 1983 and in 1999.  For 10 points each:

a. Identify this Nobel laureate.

Answer: John Maxwell Coetzee
b. The 1983 Booker Prize winner, it portrays the title character as unable to escape the effects of civil strife in South Africa – evocative of the conflict caused by apartheid – as he tries to return his mother to her homeland, far away from the fighting.

Answer: Life and Times of Michael K 

c. Coetzee’s Booker Prize winner in 1999, it portrays the complexities of post-apartheid South Africa.  Professor David Lurie experiences the titular sensation time and again, as he is reduced to an adjunct professor in Communication, discovered in and dismissed over an affair with one of his students, and then, after joining his daughter Lucy on her farm in the Cape Province, is unable to prevent her sexual assault at the hands of a group of Black men.

Answer: Disgrace
5. (Literature)  Identify these classics of Spanish theatre for 10 points each.

a. In one of the first truly popular Spanish plays, Lope de Vega addressed the issue of common culpability long before the cry of “I am Spartacus!”  After enduring excessive taxation and then rape, a group of villagers rebels and murders their lord.  No one can be tried for the crime, because all of the villagers claim responsibility for the act, attributing the acts to their village.

Answer: Fuenteovejuna

b. Separated by some two hundred years, Tirso de Molina and José Zorilla wrote separate treatments of a legendary trickster and notorious seducer of women, one who also found his way into works by Molière, Mozart, and Lord Byron.  Name either of the two plays.

Answer: El Burlador de Sevilla or The Joker of Seville by Tirso de Molina, and Don Juan Tenorio, or Don Juan, the Rake, by Zorilla.  (Accept reasonable translations.)

c. Among Garcia Lorca’s great works, this commentary on the cultural demands imposed upon women was his last play.  When the title character’s husband dies, the widow imposes an eight-year period of mourning on her five unmarried daughters.  Perhaps predictably, sexual repression, madness, violence, and suicide ensue.

Answer: La casa de Bernarda Alba or The House of Bernarda Alba

6. (Science – Biology) Identify the term that would be applied to each of these classes of anatomical structures for 10 points each.

a. These structures may have served a purpose in the ancestors of a species, but serve no purpose in their present-day descendants.  The appendix is thought to be a structure of this type, although research indicates that it may play some part in the immune response.

Answer: vestigal structures

b. These structures serve the same purpose in different animals but do not owe their similarity to common ancestry.  As such, they are usually different in form and make-up.  The wings of birds and the wings of insects are one example.

Answer: analogous structures

c. These structures serve different purposes in different animals but still possess similar base forms and make-up.  They owe this similarity to common ancestry.  The arms of humans, the wings of bats, and the flippers of whales are one example of a trio of this class of structures.

Answer: homologous structures

7. (Science – Chemistry) When heated, solid ammonium chloride decomposes into two gases.  When allowed to cool, solid ammonium chloride reforms.

a. For 10 points, what name is given to reactions that can proceed in either direction under the proper conditions.

Answer: reversible

b. For 5 points each, what two gases are produced as a result of the reaction?

Answer: ammonia and hydrogen chloride
c. For 10 points, what term is applied to the forward reaction, so-called because it requires energy to proceed from reactants to products?

Answer: endothermic

8. (Science – Physics) Sunlight is filtered through a screen with a single slit, thus creating a narrow beam of parallel rays.  The filtered light then falls onto a second screen having two closely spaced slits.  Instead of casting a pattern that consists of two bright lines, several bright lines are observed.

a. For 10 points, who performed this experiment in 1801, and explained the result in terms of light possessing a wave nature?

Answer: Thomas Young
b. Young’s explanation depended on the idea that light waves arrived at some points entirely in-phase with one another, and at other points entirely out-of-phase with one another.  For 10 points, this term describes the pattern created where the brightest lines represent the arrival of in-phase waves, while the darkest areas represent the arrival of out-of-phase waves.

Answer: interference pattern

c. The interference pattern is a consequence of the fact that light wave fronts are partially interrupted and bend in behind the obstacle.  For 5 points per answer, identify the phenomenon being described, and the physicist whose principle predicts that because any point on a wave front is a source for wavelets that spread in the direction of the wave’s movement.

Answer: diffraction, Christian Huygens  (The principle is Huygens’ Principle.)

9. (Science)  Consider two sets, A and B.  Let f be a function that relates the elements of set A to those of set B.  Give the term used to describe the function in each of following cases for 10 points each:

a. For every element y of set B, there is an element x of set A such that f(x) = y.  (Read as: f of x equals y.)

Answer: surjective or surjection or onto
b. For elements x1 (x sub one) and x2 (x sub two) in set A, if f(x1) = f(x2) (Read as: f of x sub one equals f of x sub two), it must be the case that x1 equals x2.

Answer: injective or injection or one-to-one
c. The function f is both surjective, or onto, and injective, or one-to-one.

Answer: bijective
10. (Science) Identify the following digital elements for 10 points.  If you need another clue, you will receive 5 points.

a. (10) This is an asynchronous sequential element.  Unlike a flip-flop, there are no regular intervals at which the state can change.  Instead, the user has control of an enable input that allows or prevents state changes based upon the inputs and the present state.

(5) It describes a lock where a spring slides a fastener into a hole.  As a verb used with “on” or “onto,” it describes what you might do to the rich Widow Jenkins if you were more interested in her money than you are in her, and wanted to make sure that no one else beat you to her.

Answer: latch
b. (10) In general, they are combinational elements that introduce a delay between the appearance of a value on the input and its appearance on the output.  In practice, they may be “inverting” or “non-inverting,” depending on whether or not they change the value between the input and output.

(5) A solution of this sort resists changes in pH.  A state of this sort might exist between two rival nations, each of which seeks to use it as a zone of protection from its rival.


Answer: buffer
c. (10) A collection of flip-flops that has common clock and control lines.  The simplest ones might only be used to store information, while more complex ones might have the capability to shift information from one bit of precision to another.

(5) As a verb, it might describe what the right answer will do when it finally hits.  When it happens, you might even hear the “Ka-ching!” sound made by NCR’s classic product in the background.

Answer: register (Of course, a cash register is being described.)

11. (History – American, pre-20th century) Identify these people from American social history for 10 points each

a. He was a largely self-appointed vice crusader.  The 1873 federal law that traditionally carried his name banned all materials from the mail that were “designed to incite lust.”  This law, and many at the state level, criminalized the importation and distribution of contraceptives and information on contraception through the mail.

Answer: Anthony Comstock
b. Concerned with the detrimental effects of alcohol on families, she founded the Women’s Christian Temperance Union in 1874.  Within a quarter-century, it counted a half-million members, and was the largest women’s organization in the United States.

Answer: Frances Willard
c. During her lifetime she was a partner at a brokerage firm, and with her sister Tennessee Claflin, the publisher of a weekly magazine that publicly advocated causes such as free love and equality of the sexes.  In 1872, as the candidate of the Equal Rights Party, she was the first woman to run for the presidency of the United States.

Answer: Victoria Woodhull
12. (History – American, post-20th century) His campaign for the presidency got off on the wrong foot, amid admissions that his running mate had on multiple occasions been hospitalized for nervous exhaustion and undergone electric-shock therapy.  For 10 points each:

a. Who garnered only 38 percent of the popular vote and carried only Massachusetts and the District of Columbia, losing the 1972 election in a landslide to Richard Nixon?

Answer: George McGovern
b. Who was McGovern’s running mate in that election, a Senator from Missouri, who was forced from the ticket despite initially receiving McGovern’s support?

Answer: Thomas Eagleton
c. Who replaced Eagleton on the Democratic ticket as that party’s vice-presidential candidate?

Answer: Sargent Shriver

13. (History – World, pre-20th century) Answer the following questions about people related to the Reform Bill of 1832, for 10 points each.

a. Although his sympathies took a decidedly conservative turn during the latter half of his reign, he came to the throne with a reputation as a Whig when he succeeded his brother George IV as king of England in 1830.

Answer: William IV
b. Named Prime Minister in 1830, he relied on popular pressure, and William’s prerogative to dissolve the House of Commons and name new Whig peers to the House of Lords, to advance the cause of Parliamentary reform

Answer: Charles Grey, 2nd Earl Grey (either is acceptable) or Lord Grey
c. Earl Grey’s predecessor as Prime Minister commanded far less respect politically than he had on the battlefield once he articulated his opposition to reform.  After William’s inclinations started to turn against the Whigs and Earl Grey’s government resigned in 1832, he tried but failed to form a Tory government.  The Whigs under Grey returned to power and secured passage of the Reform Bill.

Answer: Arthur Wellesley, 1st Duke of Wellington  (either is acceptable)

14. (History – World, post 20th century)  Identify these battles of the First World War, for 10 points each.

a. Originally intended to be a coordinated Allied attack, the battle plan was modified to make it a primarily British affair – General Sir Douglas Haig’s first big battle as commander of the British Expeditionary Force.  Fought near its namesake river, halfway between Paris and Flanders, the drive kicked off on 1 July 1916.  By the time major fighting ended in September, the British had gained about six miles of ground at the cost of nearly one and a quarter million casualties on both sides.

Answer: Somme
b. In the last great battle between surface fleets, the German High Seas fleet perhaps gained a material victory over the British Grand Fleet but little else, as this battle of 31 May and 1 June 1916 ended the capacity of the Germans to mount a naval campaign in the North Sea.

Answer: Jutland or the Skaggerak
c. The name that General Sir Edmund Allenby gave to this battle of 19 – 21 September 1918, was taken from the town in Palestine that was also the site of the earliest battle of recorded history.  The Allies under Allenby so thoroughly defeated the Turks and their German allies that within a just over a month, Damascus and Aleppo had fallen, and the Ottoman Empire had quit the war.

Answer: Megiddo

15. (History) Identify these would-be opponents of Roman expansion, for 10 points each.

a. He managed to annoy the Romans not once, but twice.  An alliance with Hannibal led to the 1st Macedonian War in 214 B.C. – during the same period that the Romans were fighting Carthage.  A refusal to guarantee the security of Greece’s city-states – then in an anti-Macedonian alliance with Rome, led to the 2nd Macedonia War in 200 B.C.

Answer: Philip V
b. Although his Arverni tribe and their Gallic allies dealt minor defeats to Julius Caesar, it was Caesar who put on the tactical clinic by decisively defeating him at the siege of Alesia in the year 52 B.C.

Answer: Vercingetorix

c. After the death of her husband circa A.D. 60, and the seizure of the kingdom by the Romans, this queen of the Iceni led her people in sacks of London, Colchester, and Verulamium, or modern St. Albans.  Her army was eventually crushed, and she committed suicide.

Answer: Boudicca or Boadicea
16. (Philosophy/Mythology/Religion)  Identify these logical fallacies for 10 points each.

a. Given premise P and conclusion Q, this is a fallacious argument of the form “P implies Q.  Q is true.  Therefore P is true.”

Answer: affirmation of the consequent  (Accept converse error.)

b. In this fallacy, one event is assumed to be the cause of a second event, because the first event happened before the second one.

Answer: post hoc ergo propter hoc
c. This is a specific ad hominem attack where a person is attacked on the basis that a current claim is inconsistent with that person’s past claims or actions, and therefore the current claim is invalid.

Answer: ad hominem tu quoque
17. (Philosophy/Mythology/Religion)  I will read a list of mythological figures.  All of the figures on the list have a common connection, except for one.  For 5 points, identify the figure that does not belong on the list, and for an additional 5 points, give the connection of the remaining figures.

Moderator:  Accept reasonable equivalents for the common link.

a. the Hindu goddess Lakshmi, the Norse goddess Freya, the Sumerian goddess Ishtar, the Roman goddess Venus

Answer: Lakshmi is a divinity of fortune.  The others are divinities of love.

b. the Greek god Helios, the Egyptian god Ra, the Japanese god Tsuki-Yumi, the Sumerian god Shamash

Answer: Tsuki-Yumi is a divinity of the moon.  The others are divinities of the sun.

c. the Egyptian god Osiris, the Norse god Balder, the Japanese goddess Izanami, the Greek god Poseidon

Answer: Poseidon is never portrayed in myth as having died.  The others died.

(Osiris and Balder were murdered, Izanami died in childbirth.)

18. (Fine Arts) Identify these musical works that evoke various locales for 10 points each.

a. Jean Sibelius wrote the piece in part to stir nationalistic feelings and resistance to Russification.  During the time that his homeland was still under the domination of Russia, the piece had to be performed under the title “Impromptu.”

Answer: Finlandia
b. The second movement of Bedrich Smetana’s tone poem cycle Ma Vlast, both the song and its namesake trace their way from the hills and mountains of Bohemia all the way to the great gate of Prague and the Vysherad Castle.  Along the way, the listener can enjoy images of mountain springs, the gaiety of a wedding on the river’s bank, and the nighttime play of nymphs.

Answer: The Moldau or Vltava
c. The second in a trilogy by Ottorino Respighi, the tome poems depict the title objects in the Villa Borghese, near a catacomb, on the Janiculum Hill, and along the Appian Way.

Answer: The Pines of Rome
19. (Fine Arts) For 10 points each, identify these musical forms that you can dance to...or could have.

a. The term originally applied to a dance in slow three-four time.  The term later came to denote any piece in three-four meter that consisted of a set of theme variations over a non-changing base.  Bach wrote a well-known one as part of the Partita No. 2 for solo violin.

Answer: chaconne

b. The term applies to a stately court dance of the 16th century; the musical form persisted long after the dance died out.  Gabriel Fauré wrote one that is sometimes performed with chorus.  Maurice Ravel also wrote one “for a Dead Princess,” but he confessed that the title was merely a fancy – he liked the way the words flowed.

Answer: pavane  (In French, Ravel’s work is called Pavane pour une Infante défunte.)

c. It was originally a dance in three-four time.  A slow fore-dance that preceded the quicker mazurka, they originally had rhythms similar to their relative, the Polska.  After the time of Chopin, they became very stately.  Chopin himself wrote what is perhaps the best known of the compositions, one in A flat.   

Answer: polonaise

20. (Social Science – Geography) Given a country, identify the longest and second-longest rivers that flow through that country for 5 points each.  A river flows through a country if any part of it is within the country’s borders.  Do not count a river if it only forms one of the country’s borders.  Your answer must be in the order: longest river, second longest river.

a. the United Kingdom

Answer: the Severn River is the longest (220 mi.); the Thames River is the second longest (215 mi.)

b. France

Answer: the Loire River is the longest (625 mi.); the Rhone River is the second longest (500 mi.)

c. the Czech Republic

Answer: the Elbe is the longest (724 mi.); the Oder is the second longest (562 mi.)

Note: In part (b), the Rhine River (820 mi.) is longer than the Loire, but it only forms part of France’s border with Germany.

21. (Social Science – Government and Political Science)  Ever wonder how bad it could be if invitational tournaments were made illegal?  Answer the following questions for the stated number of points.

a. A federal law is passed that makes it a felony to host or attend an invitational tournament.  Suppose the Congress gets up the gumption to pass a law finding Charlie guilty of tournament directorship in the first degree, and as part of the law, sentences him to twenty years at hard labor writing for College Bowl.  Cruel and unusual punishment indeed!  For 5 points, what sort of unconstitutional act has the Congress enacted, one that convicts and punishes an individual without the benefit of a judicial trial?

Answer: bill of attainder
b. Now suppose that it has been made a felony to host or have hosted a tournament with the words “Trash” or “Masters” in its name.  Since December hasn’t rolled around yet, Charlie’s prosecution in a court of law is based upon his hosting of TrashMasters last year.  For 5 points, what sort of unconstitutional act is this, one that retroactively criminalizes behavior that was not criminal when it was performed?

Answer: ex post facto law (Accept reasonable equivalents.)

c. As mentioned, bills of attainder and ex post facto laws are unconstitutional.  For 5 points per answer, what article and section of the U.S. Constitution prohibits these actions by the Congress?

Answer: Article 1, Section 9

d. Finally, suppose that the Tennessee legislature decides to get into the act.  For 10 points, where specifically in the U.S. Constitution, if anywhere, would you find the prohibition that prevents the state of Tennessee from enacting a bill of attainder or an ex post facto law?

Answer: Article 1, Section 10  (Prompt on partial answers.)

Note: Amendment 14 is incorrect.  That amendment has been interpreted by U.S. Supreme Court to apply to the states most of the restrictions placed on the Congress by the Bill of Rights.  But the restrictions of the question are not imposed by the Bill of Rights.  Further, Article 1, Section 10 is a specific list of those powers forbidden to the states.

22. (General Knowledge) Do you pay attention to the USDA label?  Identify these terms used to grade beef quality for 10 points each.  If you need a second clue, you will receive 5 points.

a. (10) This grade is assigned to less than two percent of all graded beef.  It is characterized by a high degree of marbling, and undergoes dry-aging, a very expensive process.

(5) Fermat conjectured that for all natural numbers n, numbers of the form 2 to the power 2n, plus 1, were of this type, but he was wrong for n equals 5.  Eratosthenes devised a “sieve” to find numbers of this type.

Answer: prime
b. (10) This grade tends to have less marbling that prime grade meat, and is wet-aged instead of dry-aged.  It is the second-highest grade, and is the highest grade of beef that is commonly made available for purchase.

(5) Zermelo’s axiom on this pertains to set theory, while Devo sang a song lamenting the lack of freedom of it.

Answer: choice
c. (10) This is the third-highest grade, and the one that is most often available for purchase.  It is leaner and less marbled than prime and choice grade meat, and therefore care must be taken in its preparation, as it is more likely to dry out when cooking.

(5) In the House of Representatives, committees of this sort include a permanent one on Intelligence, and one on Homeland Security.  In the Senate, they include committees on Intelligence and Ethics.

Answer: select
23. (General Knowledge) Given a description of the duties of a warrant officer on a sailing vessel, identify the officer for 10 points each.

a. This officer was typically charged with attending to the ship’s helm, and still serves in a similar role on modern vessels.  He should not be confused with an army officer whose duty is to provide food and clothing for a body of troops.

Answer: quartermaster or master  (Do not accept master-at-arms.)

b. Like an army quartermaster, this officer was in charge of arranging for the crew’s provisions.  In modern usage, the title can refer to a steward or any officer responsible for the comfort of a ship’s passengers.

Answer: purser
c. This officer was in charge of the ship’s sails, riggings, and anchors, and saw to it that the ship’s crew carried out their duties while above deck.  He and his mates also served in a capacity similar to that of drill instructors, and administered formal punishments such as floggings.

Answer: boatswain 

24. (Popular Culture)  Answer these questions about the most recent Women’s World Cup for the stated number of points.

a. The United States finished third.  For 10 points, whose national team did the Americans defeat in the bronze medal match?

Answer: Canada
b. For 10 points, this striker for the German national team won both the Golden Ball as the tournament’s top player, and the Golden Shoe as the tournament’s top goal scorer.

Answer: Birgit Prinz
c. The Technical Study Group named an All-Tournament Team of eleven starters and five substitutes.  Name any two of the three members of the U.S. National team who were so honored for 5 points each.  

Answer: Shannon Boxx (starting midfield), Joy Fawcett (starting defender), Mia Hamm (substitute)

25. (Popular Culture)  It happened for the first time in Europe when, on July 24, some 300 people went to a music and bookstore, and inquired about non-existent titles.

a. For 10 points, what name has been given to this type of event, where arrangements are made via e-mail and Web sites for people to gather at a certain location, where they receive specific instructions, participate in a silly activity and then leave.

Answer: flash mob  (Accept Mob Project.)

b. Flash mobs are the brainchild of a man who is known publicly by a single name, who claims to work in the “culture industry.”  Name him for 10 points.

Answer: Bill
c. The first flash mob descended upon a certain location, where they made inquiries as to how they where they might find and purchase a certain object.  This was on the pretense that some two hundred of them all lived together, and only made buying decisions as a group.  The group spent 10 minutes of discussing the pros and cons of their “purchase” and then left.  For 5 points each, where did the flash mob congregate, and what was on their shopping list?

Answer: Macy’s Department Store; a “love” rug
